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4 Marks Questions (4 eÖsÁTØ\ ç|�Xø�\T)

1. Mention any four characteristics of development.
n_óe�~Æ jîTT¿£Ø @yîÕH� H�\T>·T \¿£�D²\qT s�jáT+&�.

2. What do you mean by percapita income of a country? How can it be used to compare two
countries.

ÿ¿£ <ûXø+ jîTT¿£Ø Ôá\d�]�<�jáT+ nq>±Hû$T? Âs+&�T <ûXæ\qT bþ\Ì&��¿ì B�� @$<ó�+>± �|�jîÖÐkÍïsÁT?

3. Why income is not an adequate indicator of material goods and services that citizens are able to
use?
eÖqy�_óe�~ÆýË båsÁT\T ed�Tï, �de\ �|Õ yîºÌ+#û �<�jáT+ d�ÂsÕq d�Öº¿£ ¿±<�. �<�V�²sÁD\ÔÃ $e]+#á+&�.

4. Why is the issue of sustainability important for development?
d�Td¾�sÁÔá nHû~ n_óe�~ÆýË m+<�TÅ£� eTTK«yîT®q~?

5. Percapita income of select states.
State Percapita income for 2018-19 ( in Rs)
Haryana 2,36,147
Kerala 2,04,105
Bihar 40,982

a)  Answer the following questions:
1.  Which state has highest percapita income?
2.  Which state has lowest percapita income?
3.  What is percapita income?
4.  According to the given percapita income which state is developed?

m+|¾¿£ #ûd¾q ¿=��s��cÍ¼\ Ôá\d�] �<�jáT+

s��w�¼+    Ôá\d�] �<�jáT+ 201-19 (sÁÖ.\ýË)

V�²s�«H� 2,36,147
¹¿sÁÞø 2,04,105
;V�äsY 40,982

a) � ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�*Ç+&�.

1.  Ôá\d�] �<�jáT+ n~ó¿£+>± >·\ s��w�¼+ @~?

2.  ÔáÅ£�Øe Ôá\d�] �<�jáT+ >·\ s��w�¼eTT @~?

3.  Ôá\d�] �<�jáT+ nq>± Hû$T?

4.  �|Õq �ºÌq Ôá\d�] �<�jáT+ �<ó�sÁ+>± n_óe�~Æ #î+~q s�çw�¼+>± <û�� �sÁ�sTTkÍïeÚ?

OR (ýñ¿£)

b)   Analyse the given Table
�|Õq �ºÌq |�{ì¼¿£qT $Xâ¢w¾+#á+&�.

1. Development
n_óe�~Æ
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6. Table 1.6 Some Data regarding India and its neighbours for the year 2019
Country Gross National Life Mean years HDI Rank in

Income(GNI) per Expectancy schooling of the World
capita (2011 PPP) at birth people aged 25 (2018)

and above

Srilanka 12707 77 10.6 73

India 6681 69.7 6.5 130

Myanmar 4961 67.1 5.0 148

Pakisthan 5005 67.3 5.2 154

Nepal 3457 70.8 5.0 143

Bangladesh 4976 72.6 6.2 134

1. What is the Rank of India?

2. Which country has highest expectancy at birth?

3. Who releases HDR?

4. What is the percapita income of India?

|�{ì¼¿£ 1.6 2019ýË uó²sÁÔá<ûXøeTT, <�� bõsÁT>·T <ûXæ\Å£� d�+�+~ó+ºq ¿=�� >·D²+¿±\T

<ûXøeTT Ôá\d�] d�Ö�\      |�Ú³T¼¿£ e<�Ý 25 eT]jáTT n+Ôá ç|�|�+#á+ýË

C²rjáÖ<�jáT+     �jáTs�ÆjáT+ ¿£+fñ mÅ£�Øe ejáTd�Tà HDI s�«+Å£�

(2011 PPP) >·\ e«Å£�ï\T d�>·³Tq (2018)
�&�ýË >·&�|¾q d�+öö\T

l\+¿£ 12707 77 10.6 73

uó²sÁÔY 6681 69.7 6.5 130

eTjáTH��sY 4961 67.1 5.0 148

bÍ¿ìkÍïH� 5005 67.3 5.2 154

HûbÍýÙ 3457 70.8 5.0 143

�+>±¢<ûXÙ 4976 72.6 6.2 134

1. uó²sÁÔá<ûXø HDR s�«+Å£� m+Ôá?

2. n~ó¿£ �jáTTs�ÆjáT+ ¿£*Ðq <ûXø+ @~?

3. eÖqy�_óe�~Æ �yû~¿£qT $&�T<�\ #û�d y�sÁT mesÁT?

4. uó²sÁÔá<ûXø Ôá\d�] �<�jáT+ m+Ôá?
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1 Mark Questions (1 eÖsÁTØ ç|�Xø�\T)

1. A good way to measure the quality of life in countries across the world is by comparing their ___

ç|�|�+#á+ýË� $$<ó� <ûXæ\T ç¿ì+~ y�{ì�  ç|�È\ H�D«yîT®q JeH��� ¿=\e&��¿ì, y�{ì� bþ\Ì&��¿ì

�|�jîÖ>·|�&û~ _____________.

2. Match the following :

List  A List  B

A. Percapita income [ ] 1. Total Income

B. National Income [ ] 2. Human Development Index

C. Body Mass Index [ ] 3.  Average Income

D. Decent standard of living [ ] 4. Proper nutrition

ÈÔá|�sÁ#á+&�.

List  A List  B

A. Ôá\d�] �<�jáT+ [ ] 1. yîTTÔáï+ �<�jáT+

B. C²rjáÖ<�jáT+ [ ] 2. eÖqy�_óe�~Æ d�Öº¿£

C. Xø̄ sÁ uó²sÁ d�Öº¿£ [ ] 3.  d�>·³T �<�jáT+

D. eT+º Jeq ç|�eÖD+ [ ] 4. d�ÂsÕq bþw�¿±V�äsÁ+

3. Economic development by maintaining the natural resources for present and future use is known
as _____________.

d�V�²È eqsÁT\qT uó�$w�«ÔY ned�s�\qT <��w¾¼q+<�T+#áTÅ£��, ç|�d�TïÔá ned�s�\Å£� �|�jîÖÐ+#áT¿Ãe{²��

_____________.
4. Expand UNDP.

UNDP � $d�ï]+#á+&�.

5. Which criterian is used in world development report in classifying countries?
ç|�|�+#á<ûXæ\qT e Z̄¿£]+#á&��¿ì ç|�|�+#á u²«+Å£� <û�� çbÍeÖD²¿£+>± rd�TÅ£�+³T+~?

6. What is the full form of BMI?
BMI qT $d�ï]+#á+&�?

7. State any two goals of development other than income.
n_óe�~Æ¿ì �<�jáT+ ¿±Å£�+&� �ÔásÁ @yîÕH� Âs+&�T ý¿�±«\qT s�jáT+&�.

8. What is Literacy rate?
n¿£�s�d�«Ô� XæÔá+ nq>± Hû$T?

9. What is the full form of IMR?
IMR qT $d�ï]+#á+&�.

10. Define the term Net Attendance Ratio.
�¿£sÁ V�äÈsÁT �w�ÎÜï� �sÁÇº+#á+&�.

11. How do calculate percapita income?
Ôá\d�] �<�jáTeTTqT mý² ýÉ¿ìØkÍïsÁT?

12. What is the Rank of India is HDR-2020?
2020 eÖqy�_óe�~Æ �yû~¿£ýË uó²sÁÔá<ûXø jîTT¿£Ø kÍ�q+ @$T{ì?
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